> e

—_—

N ™
For cos X = 0,x=50rx=3'rr

Verify by substit
e ¥ ution that neither value of
equation. of x is a root of the given

: 27
[he roots are: x = == andx —fo

Verify the roots by substitution

Here are SOme strategies to use to prove an identity~
. start by simplifying the side of the identity that is more compl
plex.

. Write the expressions in terms of sin x and cos x

B ——————
Discuss the Ideas

1. What is the difference between a trigonometric identity and a
tri gonometric equation? Suppose you are given a trigonometric
equation. What strategy can you use to check whether it might be an

identity?

2. Can you conclude that an equation is an identity when it is shown to
be valid for a given value of the variable? Explain.

Q

/

Exercises

ms of a single tngonometnc function.

3. Write each expression in ter
cos 6 iulg . [ginl
a) = b) ¢ 20 b
sin 6 cos s
v : !
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| ” o .
*0 sec 0 cos 0 csc 0 Ly e JZ' 00510

A b ' ¢in7p
| 9"""9(_L )5}"" —1-9 ¢S’y
i ik
) g.,na \ / f’)n/ f
sty

4. Determine the non-permissible values of 6.

[ a)sech . | b)tang . /77 o
‘ Cush . cos® A1

| oL O #0
osh o 64 90 270,

b= 0230 v _
V4290 + 150 (k k €2
Go + k(Igo") k€Z 0429 ( )

)ﬂq d) secf /
cos 0 npv sin 6 o038 npvi
U Py $in04-0 sing i
[ mEIeRE |\ b 0+1T()k Lol , gl
w Aol t e e
i G SRR & (06 = Sng
o~ oo R ' OR

-5, Verify each identity for the given value of .
: e ———
‘ ] 20: 9. = 2
a)@_@m;ﬂs_ecﬂ fff,g’, 150

) ton o fecc 1) (52 1)

e




(TN tan Ocsc’@ _ 4t
0 pytanbect _ orglp— AT / |
/ (‘ b) sec’t & 3 ‘
3 -V’/' ‘ z
' 1 [4+an qn'\ Csc lﬁr _ cot B
) r> ‘.; 3

2

*\ -~

2
gin q,_f.
' 3
2 ) <z
b5 A L
\\_ - o
: 5 (4 ) V3
-1"73_ Bl
4 =
R E
Tl
- V"_D
2
& |
S
6. Prove each identity in question 5.
[ Tun bcscte
LecC : g
. s SR .\
cos B g:‘p )
) » -
COSE Lo S ® ]'
s b {
<My \- :
tot 3 o ) i o j b i
= b j r’i 9 \
\:! ; ,{.‘g‘ |
) ‘! sj { j
T
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